COMPLEMENTARY INTEGRATION EXERCISES TO AMBS PART II

1. Compute (hint: integrate by parts)

(a) /Oooxe—wda; (b) /jﬁlnxdm (©) /Owa:sinacdx

. Compute (hint: integrate by parts)

(a) /1 ' e;f,, iz () /1 “noide (0 /0 "ie g
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(a) /le\/H—xdx (®) /
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2% cos(az)dz (c) /1 In(az) dx

4. Compute (hint for (a) : 3% = e*!23)

(a) /le-3wda; (b) /Ox(l—l—x)gda: (c) /:We””sinmda:
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. Compute (hint: change of variable, assume n positive integer)

T2 tognt 22z +1
(@) /Ongdx ) /Ol_i_xndx (©) /1x2+xdw

. Compute
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(a) / sinfzdz  (b) / coszdz (c) / sin z cos z dx
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(hint: sin’z = 2(1 —cos2z), cos’z=1(1+cos2z), sinzcosz = }sin2z)

Answers:

() 2(1-2v2+3v2In2) (¢) =

361/4

(b) 2(1-2m2+(In2)?) (c) L(1—e(1+1?))

%(1+\/§) (b) 0 (¢) 2In2a—Ilna-1
(3ln3—2)/(In3)* (b) —1/110 (c) 2(1—€°)
(n2)/3 (b) In(1+t")/n (c) In3
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